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[YOU MAY NOT SHARE CALCULATORS. SHOW ALL YOUR WORK]
(8) L. Find A"(1} if A(z) = z* - 31n(z).
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(10) 2. Use calculus methods to find the absolute maximum value M

and the absolute minimum valuc m of the function y= fla) =z —8s2+10
on the interval [~3,1],
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(9) 3. Find an equation of the vtangent line to the graph of “the curve
y = flz) =42® — 3 7 at the point (1,3).
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[image: image2.png](10) 4. Given the cost function C'(x) = 322+ 232 46075 dollars, use calculus
methods to determine the number of units z that should be produced to

minimize the average cost per unit.
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(15) 5. A manufacturer can sell z chess sets at a price of 14 — .02z dollars
each. It costs C(x) = 17z + 1000 dollars to produce z chess sets.

(a) Find the average cost per chess set if 100 chess sets are produced.

Cewor= <2 - 2252 oy
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(b) Find the value of = that will maximize the revenue function R(x).

R(X D= X (##- 0.03X ) =¢4 X~ 00 X
lyy = - X = = 24
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(c) Find the value of z that will maximize the profit function P(z).
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[image: image3.png](10) 6. Use calculus methods to determine two positive numbers = and y

such that 2z + y = 30 and their product P = zy is a maximum.
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(13) 7. Let y = f(x) be a function such that f“(z) = »(z + 2)(x — 2)%(z —4)

for all z € (—o0, +00).
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(b) List the open interval(s) where the graph of f is concave up.

; (¢) List the number(.s\)\x where (., f(z)) is a point of inflection on the

graph of f.
€0, v )

3 (d) If you also knew that F'(1) = 0, what could you conclude about the
point (1, f(1)) on the graph of {7
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[image: image4.png](15) 8. Consider the demand functioa

g = f(p) = 128 — 4p univs for 0 < p < $32.00.

(a) Find the price elasticity of demand function E = E(p).

~—f % __r . 2P
Ee> T “eep (10 P50

(b) Is the demand elastic or inelastic when p = §20.907 Why?
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() Find the price p at which the revenue is a maximuni,
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(10) 9. Use differentials to approximate V50,
fe= Jx =49, xz=50, ZUC:C[X‘/
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